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���F�//������U//����//��� //������X//����
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��������	�
��1��C���
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�
��3�Q�	
���	�C� �	
	������T����=���
S��

07 
��R��//���//��R�	�//=	��	�//��F�	�?�//��=�)�//*(�	

�)�($��

08 
��R��//���//��R�	�//=	��	�//��L�
�?�//��=�)�//*(�	

�)�($��

������////�� ////�������(�	��////>��	�////!�7,8����
�%	��////���)�////*(�	��	�////��
���//2O�%	��//���)�//*(�	��	�//�����//���//�O���//����
������//2�������

�)�($�R�������R�	�=	�?��%����

09��

 
Base Block��1��C�QNOS���

��
��

10 Base Block��1��C�QNCS���

�����(�	��>��	�!�9,10�F�(����	����������O���2�
����Base 
Block��1��C����
������� ������$��������	�!�9����
�/���/�����	���
N.O.��	�!����10��
���������	���N.C.���$����������
� 1���"���F��9�/#�U/�� �����9��Base Block���
�/$��/=���
���

��///�	�
AC��///1��C����///���?
�///���c///��(��X///������///�������///�


�B����
	%3�:��@�������������F�/(��� /�����/9��Base Block�

��������	�
���
�$�F�8=���ZAC��q��$�	�����#���G(�1�:��
���
���������$���	�C����������#�?�$�?������X������
�����	�C����T/>��


������	�C����#����|�� ��q��$��
,	�T����=� ��?��#�%	����

11 
�
,	�T����=�R�	�=	��

��

12 ��
,	�T����=�R�����

���////��(�	��>��	�////!�12,11���////2����������////��� ////������X////����
��������������$�����
,	�T����=�R�������R�	�=	��21��������O��
���

�������
�	
���$��=���
���
���� ���9(��� ��Q�q�1����
�$���� /�Pr.02-
00,Pr.02-08,02-09S��

13 �������$�
�G��&�_����
���(�	��>13������������	�/���
�������/���/�O�F�/��������/��� �������	���

�$������������$�?
������������

14 
� �������	�1	PLC���

��

15 � ������0(C�#�c��(�PLC���

����(�	��>��	�!�14�����������
�������/���/�O�F�/����������� ������X����
��� /������ //��
�//$��/�PLC��//�	�
�A//C	
�AC��
%�//#��//��F�/8=�	����
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�
����� ������ ��
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%�/#��/��c��(��	������� /1���"Pr.05-

16����Pr.05-00� ������PLC�
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16 ����$����������1F�8=���Z��1��C�����
17 �����$�����������2F�8=���Z��1��C������

18 �����$�����������3F�8=���Z��1��C������
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�//$��//��A@//(��i//�>��//��0//=� //���//�	�
��//(����(�	��//>��	�//!�16�
��18�������F�/����������� ������X��������������/�Z��	�/���
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20 ���	�Hj	�c���QNCS���

�������(�	��>��	�!�19����20���������
����F�/��������/��� ������X����
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22 ��
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�///$
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04-10 ��?��%����������������������������������������������������������������F�(�G�
�F��������
������C� ��C����&�_���"1�����
�������:���_�������������������1����20 mSec��	�����������������������������������������������������"1��

 
� ����� ���	����(�	��>�0�	�������/$����/��F�/(�G�
��
������/2����������2���9�#�?
���UO���0(C	��	���C������ /���/�	��U/�

�L�2-�2mSec���8�� ����	���
���4mSec
�	
� �	
	�+�����0���� �����$������Q������	���2mSecS� 
���?��%�������������:�/�
���<�	���
�F�(�G�
�F�������
�$�X�����#	�0���� ���$����������� ��B����
�1��?
���UO��21���C


%�#�F�8=�	���HC���
��Y�j���"���������������������� /��d�/������/$�0�/�8��R�/>�%	� /��������/#�U/��q��/$���?�/$�F�/8=�X�����#	�0����������=����
�?�O

��
�$��HC�c
(*����2(�����0($	{B�
�����	�C�0���%	�	��F��(�	�0�	���C����
��
��

04-19 ������3��
������C��AVI���� ��C����&�_����"0.05����
�����������:���_������0.00��� 10.00 Sec ��	��������������������������������������������������������"0.01��

 
04-20 �����3��
������C��ACI ��������������������� ��C����&�_���"0.05������

�����������:���_��������0.00����10.00 Sec���	���������������������������������������������������������"0.01��
��

04-21 ������3��
������C��AUI���� ��C����&�_��"0.05 ������
������������:���_�������0.00����10.00 Sec���������������������������	���������������������������������"0.01��

 
04-22 U��-������3��
����T����=���� ��C����&�_���"0.05�����

�:���_���������      �00�����������������0.01 HZ���
�������������������������01�����������������0.1 HZ  ��

 
04-23 
��6���C�$��	���������
����
�#������C����&�_��� ��"200�����

���������:���_��������4~1000���	���������������������������������������������������������������������������"1 ��
 

04-24 �� ��	%�+��j����
����
�#��C�$��	���� ��C����&�_���"180.0�����
�:���_��������0.0~ 360.0 °      ���

��
04-25 �C�$��	����'����+�$�?��%���
����
�#������ ��C����&�_����"0.00����

���������:���_�����0.00~100.00Sec���
��
��
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�#������?�����c/����?�/�%��������%	��
�-(/#	��/��
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�-(/#	���	�/!��
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�#�����9(#
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/,	� /H!���/��������/�#��/9������8/j����$�<�	��F�6��
����
��$���	�C�����������#	��9����������
�����#� ������%�������	�
AC�	��+�$�
	
���	�*��R������Tg#���	�
�AC�q��$�

� �� 1���������������?
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����C�5����(�	�
�
��)���*�
�
���X�#$J�)���
��PLC0���
M����;@�)�!����1��
��

05-00 �&�_���R�>�%	����#�T����=���� ��C����&�_����"0.00��
05-01 ��#�T����=�&�_���R�>�%	��n��� ��C����&�_����"0.00��
05-02 �&�_���R�>�%	����#�T����=���� ��C����&�_����"0.00��
05-03 �&�_���R�>�%	����#�T����=����� ��C����&�_����"0.00��
05-04 �&�_���R�>�%	����#�T����=���� ��C����&�_����"0.00��
05-05 �&�_���R�>�%	����#�T����=���� ��C����&�_����"0.00��
05-06 �&�_���R�>�%	����#�T����=§���� ��C����&�_����"0.00��
05-07 �&�_���R�>�%	����#�T����=���� ��C����&�_����"0.00��
05-08 �&�_���R�>�%	����#�T����=¨��� ��C����&�_����"0.00��
05-09 �&�_���R�>�%	����#�T����=�o��� ��C����&�_����"0.00��
05-10 �%	����#�T����=�&�_���R�>����� ��C����&�_����"0.00��
05-11 �&�_���R�>�%	����#�T����=�n��� ��C����&�_����"0.00��
05-12 �&�_���R�>�%	����#�T����=����� ��C����&�_����"0.00��
05-13 �&�_���R�>�%	����#�T����=����� ��C����&�_����"0.00��
05-14 �&�_���R�>�%	����#�T����=����� ��C����&�_��"��0.00��

��
�������������������������:���_�����0.00����400.00 HZ���	���������������������������������������"0.01 HZ���
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��
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�����	
���	�
AC����$�����
�-(#	����������#Q���=���T��S�M#��QPr.05-00��� 
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�������
�$��
�-(#	��1��C��������#������� �����1��C�����	�
AC����������/#�?	�/����/���/_��
��/����/��� ���������5��H��

�
������	�C�����	������21������ 
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	%3�%	��8����
�����	�'�����������
�c����(=	�����	���Q��� -���������$��&�_���?��%06-15S���

��
��
��

06-15 :����?��%���0���>�?���1�%�#���$3���C
�G���%	��	��	������� ��C����&�_����"10.0 
��������

� �������:���_���1~600.0 Min��	��������������������������������������������������������������������"1 Min ��
��
��

� ���C��B	����%	�?���1��1Pr.06-12���
� ������%����$������0���>�Pr.06-13	��
�$����&�_������	{9���� /�����/9����
���	�
����#	�	�1	�F����
���9(#
AC
	
���	�C��	�'��� (6�	�� ������,��
Pr.06-14�
�$�&�_������B	Pr.06-14�

�����03���������	�
����$�����$�&�_���AC��������
���
�(=	���	�C��	�Q�	��8������� /������������/$�&�/_�����C�/��?��%�%Pr.06-
15�S� 

��
��
 

06-16 ������M#�����$�c��8��0���>�4�(��������� ��C����&�_���"00���
��������

� �� �����:���_���00�F�8=���Z������
���#���������������������230V�"�220~300VDC���
���#���������������������460V�"�440~600VDC��

��
 

06-17 ����$3�?��%������M#�����$�c��8��0���>4�(����%�#���� ��C����&�_����"0.5 
��������

� ������:���_���0.1~3600.0Sec��	��������������������������������������������������������������"0.1 Sec���
��
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� ����N�/��4�/(����/(��DC��%	��(����/>�Pr.06-16�������
���/$�&�/_���?�/�%�:�/��L�//��	%	��/8���Pr.06-17�/�	�
���AC�U//��
��$	
���	�C��1��C�F��9�#���:���_�����28%	�Pr.03-03�~�Pr.03-00�� 

��
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06-18 ��%����
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��
��
��
��
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��
��
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��
��
��
��

����C�7�����.,.)�
�
��)���*��
��

07-00 ������������?���1��� ��C����&�_����"100 
�����������������������:���_���30���120 y��

��
� ����1�?
���
��W��X�����(�	��>�0�	���?����	�
����AC�������B�/
1���/_��� /���+�/#3���

�/B��/����/���������%	��
�-(/#	��/�

0$��
���� 6#�W��&����
�	���(�	��>�0�	��
������ ��	����,��
��	�!��?	��������%�� 
����������������������������������������������������y�100���×�Q�������//��?�//��1�����//��	��//1��C�Q(Pr00-01�[������//��?�//��1

������S��
��
� ��(�	��//>Pr.07-00���Pr.07-01��
�//���
��//�	�
�&��	�//C��//�� //�����//9����//����vector control� //�������//�����//��

����//$���//��QPr.0-09=2,3��S����������������//�����(��	��//��	�����//�� =�//j	� //�����//B��//��0�//����QPr.06-06�S���
��V�//|��?	�//61Qslip Conpensation�S����//>��//���������//$�)�//*(�	�
�//�����//��� //������	���(�	�����%	�L	�//����//���//B	

����� ������ ���%�������'��)�*(�	���$���z����
��
��0�	�
�����	�*���(�	��>�� 
 

07-01 �����������?����?���1��� ��C����&�_�����"40���
��������������:���_���1���90y ��
��
� ����	�
������?���1AC�?	���� ��100y�$���� (=�B��_���
��
���������������/��?��/��?�/��1��/�����
���/����:�/��_��

�$	{B���	�C�������V�|��?	�61���������?���1�?	����%	��(��������&�_����	�!�QPr.07-00�S��$���������� 
� 

07-02 ����('B�?	�61��� ��C����&�_�����"0.0 
��������:���_�������������0.0����10.0�����������������������������������	��������������������������������������"0.1���

��
� ���	��(�	��>�0�	?	�( ��
����&�_������7��(���4��1��C����('B�U�� ���	�:��(#	� ���	�$��� ($	
�.�� 
��

07-03 �?	�61V�|�Q��?���PG
�$��
�-(#	�S��� ��C����&�_����"0.00 
������:���_��������������0.00����3.00��������������	����������������������������������������������������������"0.1���

��
� ������������	�
���������R�	�=	�?����#3�������U���%	��	��	��L�9��AC�

�/B����V�|��R�	�=	�X����������(�	��/>�0/�	�%	


�����
�-(#	��1��C�T����=������V�|��?	�61��	���?	���������1��C�?���1� �����9�� 
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AC������������?����?���1������%	��(B��QPr.07-01�S����	�
����$��AC��0/�	����5��H��	��
�C��1��C�T����=�

������	�C�&�_����(�	��>����

��
07-04 �����������+H��
	�8���� ��C����&�_����"04 

������:���_�����������2���10 ����������������������������������������������������������������	������������������2���
��

� �	������������+H��
	�8���(�	��>�0�	�������0��8���Q���$���b�%�
���U������� ���S 
��

07-05 �U������	��%�#����$3����������(�	��>���� ��C����&�_����"00���
���:���_��������  00�F�8=���Z���

�������������������   01�U������	�&�_���R1���
�������������������   02�U������	�&�_���R1�w���������������

��
� Pr.07-05��������	��01������02��������
�����
����&�_���RUN����
���'=�	����������%�/#����/$3� /��
�/$����X��������0�	

�
�//$�q��//$���//����U//������	��������//(��01���//$�����//$�&�//_�������	�//!��U//������	���//7� //��R1����
�//$��//�����//$3�
�� ���#	�b��(�	�!���	��Pr.07-01�����(#
�:��@����
�$�
�	�����������/(��02�����/�	�
��
�/$�&�/_���AC������/��?��/���/����

��	�!�����$��Pr.07-01��Pr.07-06U������	���7� ��&�_������$����� 
� 

� ���$�?	������%��
����
�C�&�_���A�	��" 
 

1���������'��&�#���� (=�B��	��� ��C����:���_����������(�	��>� ��� �����$�0l�H���:.�@�	�Y�W,���7� ���������
��#	���$�L�G�	���

2������?��������� �����$�0l�H�����
�C�&_��%	�A6���$�6��A,�� �������������T����B� �����O��������#	���
3�����	�!�Pr.01-02���Pr.01-01��Pr.07-00��Pr.07-04��Pr.07-08�����
�	��Y�W,���7� ��	�����
4����%	��8�&�_���Pr.07-05�������������$�&�_�1������2����	�
��AC�� ���	�«W�� ����(#
�?3� ��RUN��� /��
�/$��
	
�

���#�������
�����	�C�	�1	��C	�������7� �����	�1	�?��%15� �����wPr.01-09w�Pr.01-10Q������('/���?	��� O���
�$�� ���?��%�Accel/decel�
�	
�%������('���S����

5����//-H��	�//1	�%	��//8�}��//����U//O�//�3���
�//!��Pr.07-01���Pr.07-06�//�	���//$�
�	���//�C��//���//-H�� //���//B��}��//�
��
RUN�&�_���%	��8��	��Pr.07-05���
���'=������

6���T>����	��������$�Pr.00-09� ��	��02����03��I����&�_���
�C�:�1��(�	� �� 1������	�����(�	��>� �!�������
��

�#�'�1���
����
�Vector Control�Q��	
���F�(���S�����/�� /�����������:��/,� /��	����/�����
�/�%�
	�/8�� /����/���+/#����?	�/��
�����A,��?3� ���%	����

�B�A,�������������U��M!=���9(#
���� ����

��#Z�'�2����
�/���
�) Vector Control����	
�/��F�/(��S�����������?	�/��%	�?3���/����?	�/�� /��
�/$��
�-(/#	����/���� /����/���+/#����
drive AC�$����(�������

��
07-06  ��MC�����!��������MC�R1���� ��C����&�_����"00 

�������������������:���_��00����65535 m¬���	�����������������������������������������������������������"01���
��

� �������������������&�_���	���(�	��>�0�	�������U������	��%�#���$3�����%	��
�-(#	�?����	���(�	��>�0�	���;8���#	�0���������
Pr.07-05���(#
�:��,� ��������&�_���� 

��
07-07 ���Cz��
07-08 ������������V�|���� ��C����&�_����"3.00 

�����������:���_���������������0.00����20.00 HZ ���	������������������������������������������������������"0.01���
��

� ���� �� 81	�����rpm�����������:�@*'��^;>����� x����������/�
��V�/|��?	�����������%� �
�8��%	��
�-(#	����#	���$� ($��
�
��� 6#�W��	�" 

120 ) )%                        �[������/������/��+/H�­ rpm �����/��SvQ����� /��>�T��/��=Pr.01-01��S�F�S�������V�/|�
�������

���
07-09 ���V�|��?	�61���� ��C����&�_�����"200���



  ����

������������������:���_���0����250y��
 

� ?	�������(�	��>�0�	����?	�61����0���.����
����0��8��	��Q�,�
�?	���Pr.07-08��S� 
 

07-10 ����Cz��
07-11 ���Cz��

��
07-12 ��������%�����('B�?	�61���� ��C����&�_���"0.05 

��������������������:���_���0.01~10.00 Sec�������������������������������������������	��������������"0.01��
���

07-13 ��������%���V�|��?	�61���� ��C����&�_����"0.10 
���������������������:���_��0.05~10.00 Sec���	��������������������������������������������������������"0.01���

��
� �����(�	��>�Pr.07-12��Pr.07-13	���	��®#�>�?��%���	�(����������&�_�����
����|��?	�61��	�� 
���

07-14 �q��G��?��%����������Q !��
�S��� ��C����&�_����"00 
�����������:���_����������00~ 1439 ���	�������������������������������������������������������������������"01��
��

07-15 ���
	�8�%��������������� ��C����&�_����"00 
�:���_���������00~65535            ���	�������������������������������������������������������������������"01��

��
� Pr.07-14�����Pr.07-15�����?��%�M6j��	��������������������/$�^�/>��/���/�
�B��� ���	������ �����	�������
�$�����
�-(#	��������

������0�	� ��������&�_��� 
�#���00��
�$����L�G�	� /������,��
�����%	��/(���?�/�%�60�� /��������/$������/�O����/�	�*���/6�

��� 

����C8�����[
��
�
��)���*��
��

08-00 ������?���1�YH#dc���� ��C����&�_�����"0 
��:���_���������������0���       100% ��	������������������������������������������������������������"1%��

��
� ������YH#�������0��8���(�	��>�0�	����������1��C�?���1dc������/$������c������q��$�0����
������� ������ /�����/9���YH/#��

������?���1dc��	��&�������&�_���������?���1��QPr.00-01�S��?	���� �100� 
�$���� (=�B��_���
���� �,���
�������?���1�U����� ��

�B���dc�����Tg#����
���q��$�0�I�>�����	��?�/��1�������/,����('/B� /���/��&�/�
��R�	�/=	���+/#������Y�W

&�#���� 
��

08-01 ������?��%dc��%	��	��	��q��$�0����
���� ��C����&�_����"0.0 
�������:���_���������0.0����60.0 Sec������� �� �� �� ����	��"0.1Sec���

 
� ���������0��8���(�	��>�0�	�����������?���1��	���?��%�F�7�dc��L�9���$������������ ��F���	��
�����/����?��%� �����9��

dc�������	�
��=���?���>�AC�������������� ��q��$������	�
AC���&��/����T����=�%	�����)�(/$�R�	�/=	� /��q��/$QPr.01-
05�S�
������	�C� 

���
08-02 ������?��%dc�c����0����
���� ��C����&�_����"d0.0 

�:���_�����������0.0      ���60.0 Sec �������������������������������������������������	������������������"0.1 Sec���
��

� �����/����?���1��	���?��%�F�7�������0��8���(�	��>�0�	dc����������/����/�����F�/��	���/����c/����0�/���
� /���/$����/�������/B	
���������c���dc���9�3��$����_����Pr.02-02�������
�c��������RAMPQ�0�S
�$�&�_���� 

��
08-03 �������	���q��$� H!�dc����C����&�_��� ���"0.00 

�������:���_����������0.00����400.00 HZ��	�������������������������������������������������������"0.01 HZ���
��

� ������q��$�L�9���T����=�������0��8���(�	��>�0�	dc���$������)�($�R����0����
��� 
��



  ����

��

��
��
��

�#<.,�����
1���������dc����
�L�9�����q��$��(����������
�-(#	��������� ��
�$�����������$��� ($	
��������	�
�q��$�%	�A6����Am������/�����/��0/=�

����������������/$���M/
Z��/21��
��/����F�/���
��/�	�
�q��/$�%	�A/6����/#	�0/�������/�����0��O�U����;�� �������i�>�����U/���/W�
��H�	�$�0��O���%	�?	��������������dc��
����
�-(#	�����	
� 9��	���������$�Y�W,������ ���	�%	�A6��������	��?3�
�/$�F�/��	�?	� /�

�c��(�
�������
�2���������dc�����������������
�	
� /9��c/������8/j��U/���
�	����/���/�	����/�����/$����/��c/����?�/�%�R��/���	���c����0����
������	�/�

����������,�@/C��/$���%�/���
��/���/#	�0/����U/�����
��/���!��U����(���
��%��#���	��	�	
� ����������h����c/���� /�����/9��
�$����_�����<��#���Q�����#3�Am��S��

��
08-04 �E������2B���<H�� ��d�����:��
���)�*(�	��� ��C����&�_����"00���

���������:���_�����������00
�$����c��(��:��
���E������2B���<H��%	��8�������
����������������������������01��q��$����#���G(�1���������� �	
	�:��
���E������2B���<H��%	��8������
�$����

,	�T����=��	�!��%	�
����0�	��
������������������������������������
��������
�-(#	�<1�������
������������������������02 T����=�%	����#���G(�1����������� �	
	�E������2B���<H��%	��8��:��
��������


�$����q��$�A�	��������������������������������������
��

�(�	��>�E�=�Q08-04�S%	��8����	�
�
��
���
����������'�startE������2B���<H��%	�T>���
�G���
�����	�C����
��
��

08-05 �E���<H��<�	���
�����(#
�A�����m�	���?��%��� ��C����&�_����"2.0 
����������������:���_�����0.1���5.0 Sec �����������������������������������������������������	���������"0.1 Sec���

��
� �����������������/�	�
��/$����(�	��/>�0�	�M#�����$�0�8��?��%�%	��(����8H��0�	��B	�E���<H��U��0����
AC��� /�	
	�	��:�/�
���


	
���	�C�����	�
��1��C��'���F�7���
�����	�=�����(#
�A����?��%��m�	���%	��B	AC�$���	�C�V���C������� 
�  
���

08-06 �?��%Base block(�1��	�������#����G��� ��C����&�_����"0.5���
��������:���_����������0.1�����                                     0.5 Sec���	��������������������"0.1 Sec��

���
� ������E������2B���<H�� �����9�����
�¦�����	�
���AC�Tg#���
������	�C�<H��	��
�C��1��C��������/_(���%�/G��?�/�%��%	�/�	� /�

�������Q�M#��� ��Pr.08-06�
�$�����*'��?��%� ��Base block
�$�����������S�����/��
�	��:��
���?3�%	��8�����
����q��$���<�	���
��(�	��>�0�	�&�_���$�������-,� ���1��C4�(���?��#���	��� 

� 
� ���j��(�	��>�0�	�h������0��8����	�������������U/��q�/���L�/9����G(�/1�?�/�%�Base block��/$����1��/C�����/H��������

��HC�q����%	��8��
�G��q��$QPr.08-14S� 
��
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�  
��

08-07 ����#���G(�1��	���?���1����
��W���� ��C����&�_���"150���
������:���_��������������30����200%���	�������������������������������������������������������������������"1%��

���
� (���	���1��C�?���1��(�	��>�0�	���������������#���G(�1�
����
���	�
���������
��W�� 
 
� ���W�����
�$����	�1	����#���G(�1��(��V/F����B�
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3.4�CHKQ�����<�1�F�(��Check Sum S���
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�
��ASCll"���

LCRQ�������/7��/�	�	�=�F�(���SLongitudinal Redundancy Check�����F��/����</�1�M/#���V���0/�	��
�256����
�/!��
��	����������%ADR1�����������������A/����F���/#
�	�/9���/�����/���
���/$�
�/���Tg#���

�B���� 6#�W�����(�	����0��C3����2�� 6/#�W��?3�
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�N�
3�%	� �
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�%	�AC�N�
3����01H�$��������%���$� ������
��
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CRCQ���	����
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��#�:��,� ����	�	�=�F�(���S��$��������%�:��,� ��?3�A�	��"��
��
��

� 
���1�"���(��1��U�16�(����QL��� ��CRC��S���	{B����:��@��
�$����FFFFH����
��
��

�� /
���2�"��0�//��	8����:��@//���(�//�1��%	��/����0��(����//>��//��?�/��=�L�//|�>��//����%	��/���Exclusive OR��//���	�//��
�
��B����

��
��

� 
���3�"�LSB��(��1�� ��d�����CRC
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��
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���4�"����B	LSB������(��1�� ��d�����CRC����(��1���$����-,���CRC������/����/��	�/�>��-�/$��#	����#� ������U��
��MSB��������>��-,����	����� 
����Tg#��3�
�$�����	�������

���B	LSB������(�/�1�� ��d�����CRC������/$���U/����CRC�������������/����/��	�/�>��-�/$��/#	����/#� /���/���U/��MSB���/��	��
��(��1��0�����������������>��-,CRC��������O��	�!�����A001H�:��@��Exclusive OR��
�/�B��/���	�������Tg/#
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��
��

 
���5�"���A�	��3,4��(-���E�-�	��-�$�����'�� �����1�������$�����	��������?	� /�����/9��8������</�	���
�
�/(=	�E�/-�	��-�/$��/��
������U�8��#	���$�V%	
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���6�"���A�	��2�������	��5����/����������	����8�/�������������/$�V%	
�/>�?�/��=��/��L�/|�>�%	���/8������������/���/��
� /�	
	�	����/��0/�	
���$�V%	
�>�������������������(��1�����2��:���(W�CRC��	�!��<�	���
�CRC��$����������

�����	�!�� �����9��CRC�������������F�!(�	�Q��
�$��������*��S������	�/!��%	������/>�����.�/����/�������<�	���
CRC����/G��1��/����
�$���������F�!(�	�F�	��(����>�c�
��������������<�	���
�������;�z�h���/�����%	����m�CRC����?�/�%�%	��
�-(/#	��/��C����/���/�z�
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3.6�P��m(#	�®#�>�"��
�������L�|�>��	���P��m(#	��7�6��	��"���
�%	����	AC������?�/��=���/2��|�>��/=���
�%	��/8��	��F�����®#�>� ��
��������_(�	�<�	���
�

�������������������/�	�C��
�/���/�Z��/��L�/|�>� /���/=����/��	�C�	�����/���/������/$���%�
�	����
���
�%����
�C�%	��
,	��	��	���7�%	
��
���������	�
��B	AC���������������0�	���/�������	���/*����/HC�U/���/
�� /���/������/=���
�	���/��L�|�>����/�	�
�AC�����/�	�*��&/���*/#�>�

�$	
���
�����	�
��B	AC��HC��?����	�����L�|�>��7�6��	�����	�1	�	��?3���	�(�����������=���
��������
/,	��	�/�	� /��P��m(/#	�?���=�U��

���//HC�L�//|�>�U//�����//$��//�	�C��
	
��'//B��CExx��//�	�
��//�
�� W-//,�����AC���//�3��//�	�C��
�R��//��� //�������//�xx�%	�
CExx��
����U��

�B����c�,�����%���$� �� ���$������P��m(#	����F
�8��<�	���
� ��$��������"���

�������������
,	�L�|�>�%	�����0��(�2��P��m(#	�L�|�>��
1� ���H�	�$� ����
������$�<�	���
�P��m(#	�U����
�$����&�_���
��#	���$��
	
��'B�����	���$�P��m(#	�0�	�%����X���������
�L�|�>�%	�F�m��U���
���?���=�06H�P��m(#	������02H����
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��ASCll"���
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�/C�%	��*/#�>���/��0�	��������
%�#�������$3�	����	���*����HC�U��������������=���
�	���2��|�>�

�����
���������>�U���������HC�L�|CExx�� W-,������R��������	�
�AC�
�$�����
	
�R���������0/�	��
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,	��	��	�0�	�����
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09-05 HMI ��(��1��1���� ��C����&�_����"00 
�����:���_����������������00~65535��

 
09-06 HMI ��(��1��2���� ��C����&�_������"00���

��������:���_���������00~65535    ��
��

� �	��>��
�0�	(��	���	���(��1���
���6����2 HMI���PLC�������������� 
��

09-07 ®#�>���C���?��%���� ��C����&�_���"00�� 
�:���_��������00~ 200              ���������������	��������������������������������������������������"0.5 msec��

��
� ���	�
�d�6��	�?���=��=���
�%	��8��	��®#�>���C���?��%��(�	��>�0�	AC��
����?�'��	����%�A�$�����������

��
��

�	���M!=��(�	��>�0�	R�	�����4.01
�������������.���������
��
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����C10 ����
�
�!����PID����
��

10-00 �U����=��	����
����F������PID���� ��C����&�_�����"00��
������:���_���������00�
��
�����PID��1��C���2����������AVI���ACI����	������F�(����	�����

V/F                               ����$��
�-(#	��Q�L����:��,��
Pr.02-00��S���
01                     ��
�������PIDU���=����-����F�������%	��1��C��AVIQ�����-,10�Sw���

��������������������02 ��
������PID�U���=�����-���F�������%	�1��C�ACIQ�4����20mA�S���
��������������������03 ��
������PID�U���=�����6m���1��C�F�������%	AVIQ�0����10V�Sw���
���������������������04��
������PID��U���=��6m����1��C�F�������%	�ACIQ�4���20mA�S���

��
� �����������+�/���/�����1��C�T����=�?����<�	���
���|(����$����B��%	��	�U���=� ��
�$� 1��HZ������/��5��/H�����/$����/��

�������
���)�*(�	�	���
����F�������?	������?3�����������������	�/����/$�L�/G�	���/��&�_���/���/��(�	��>�&�/_���0/�	� /�����/$�0l�H�
�
,	�T����=Q�Pr.02-00�S����������	��>���;��� 

 
���-���U���=�Q��U���=��target value S�w���
���6m��U���=�Q���U���=�wtarget value �S�w���

�������������������������     ���������������������
10-01 ��%�#����$3��	�!�PID���2�� =�j	�QGain OverS���� ��C����&�_����"1.00���

���������������:���_0.00������10.00���	����������������������������������������������������������������"0.01���
��

� ��������������������������	�/!��0�/���W/,�L�/��?	�/����&�/_����
����/$����/��U��/�=���/$����/$3��	�/!������%	���2��&�_���<�	���
�0�	
�)�
H��
�������������$����B��%	��	��	�!���� 

��
10-02 #������2��6Q�P�S��0�B������ ��C����&�_�����"1.0��

������:���_����������0.0����10.0���
��

� ��F�(���������0��8���(�	��>�0�	�6#����^�('����2����QP�S�����/$����/����������/�8���/9�
���/2���/���
��/B	QI��D�S�����
��������/���(6�/���/������/!��F�(��������$�&�_����-,¯���
�/���/�	�C��������?	�/����/�10%���	�/W�	�Q��/HC�S��P=1���/1��C�

�
�����	�C�������������������������������"���
,	�T����=­10% �­P �­1/6� 
��

10-03 ���2�Q��	�9(�	S��� ��C����&�_���"1.00 
����:���_����������0.00����100.00 sec���

�����������������������0.00�F�8=���Z���
��

� ��������$��������	�9(�	�F�(����9�����<�	���
�(�	��>�0�	Q���G����q��(��=	�W�	�:��S����8�1����2���QI���S�����/2�� �����9��
��	�9(�	�������1������������ /�����/�%��/��0/�	���
�/���/�	�C��
��������������1��C��$���������	�W�	�?	������

�B�&�_���
�?��%� ���$�0��8����C���$	
���	�C� �	
	�&������#
�� 

���
10-04 ��!('��F�(��QD��S���� ��C����&�_����"0.00 

����:���_����0.00���1.00sec ��
���

� ���������$�������!('��F�(����9������(�	��>�0�	Q�����
����:	���|��?	����S�����2�����	�9(�	����������(�	��/>�0/�	�&�/_����/��
����1��C�U�PID�������
���	�-�
�?��%������	���­���j����	�W�	��	�W�	���2����
�Aj�-��	�(�	���8��
�����	�C��
6��

��������
�	���	�W�	��������&�������)�j��
���	�-�
�?��%��
�Tg#��&���3����	����
�®#�>����#����?��%�
����0�	
&��$�?	�61� =�j	�������%	�R���?	�61�X�����#	�0���������'*�����
�62�� 

��
10-05 �����	�9(�	�F�(����	�����.������ ��C����&�_�����"100 

���:���_����������0.0 ���100% �������������������	��������������������������������������������������"1% ��
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� ����������	�9(�	���2���	�����.���%���U��������c��8���(�	��>�0�	QI�S��$�����������T��/��=�?
�/��
��/W��X/����0�	���/���

��
,	�#	� 
 

�#	���%�:��,� ��F���=�"��
��������������������������������Q��Pr.10-05�S�­QPr.01-00�S�=���//1��C��m�	�//��T��//�������F	�//9(�	���.�//��%�//�QS�?	�//�

.��S��
�$���&��������1��C�T����=�������
��W����	�������(�	��>�0�	����

��
��

10-06 �(
�=���C���?��%�
,	���� ��C����&�_����"0.0 
�:���_����������������0.0����2.5 sec�������������������������������������������������������	���������������"0.1 sec���

��
� Q1�S������������������������/1��C��
������/���/��!��%	�����B�/
1��/����?3�R��/������/�B��%	�/�	�%	��/$������/��%	����B�
1��	��

������F�(����
��(
�=�U�%	��G��
�$�����
�-(#	����=�F�(���

�B����:���#����%�#��	����X�����(
�=�0�	Q�A�$
����������L���	�����b���S 

Q2�S����� �����9Pr.02-01�������01�����02�

�/B����&�_��������&�/_��� /H!�Q����
/,	�T��/��=�S���F�/(����	�/�PID�%	�
��1��C�F������AVI���3�����#���Q10�w���0�S���	� 
������O����#�%	���������

� �����9��Pr.02-01�����00

�B�&�_�������3���	�C��#
� ����
�� W-,�����%	�&�_��� H!������
�����������L	�B��
PID��$��������%���$� ��A��������

��

��
��

10-07 ��1��C�T����=��
��W�PID���� ��C����&�_����"100 
���������:���_����������00����110%���	���������������������������������������������������������������"1% ���

��
� �����������
��1��C�T����=��
��W���,�
�������c��8���(�	��>�0�	���F�(���0��PID����/$��������������/�%�:��/,� /��F�/��=

�$������" 
Pr.10-07%                                     ��­QPr.01-00�S���m�	����1��C�T����=����1��C�T����=��
��W���

�$�������m�	����1��C�T����=�������0��8���(�	��>�0�	���
��
��

10-08 ��%�#����$3�?��%F��9�#�U���=�������&�_��� ��C��"60.0 
�����:���_����������0.0����d3600.0 sec���	������������������������������������������������������0.1���
�����:���_����������0.0�~�100.00����

��
� ��%�#����$3�?��%�������0��8���(�	��>�0�	���9����
��������/8�67��/�Z�
��/�� /��B��/��U���=�F��9�#� ���$������

����	����
�����F�(���0����
�	�PID������/��������$3���������������?3�%	�?	�/���/���/���
�/$���C�/���	�	
�&(�/�#��/����/��0�/����

�����
�-(#	� 
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� �������(�	��>�0�	� �����9��00��������������	�/���
��/8�67��/�Z�F��9�/#�q�/��U/�� /���/#	�0/�	���/��
�?�'/��
�/$�&�_���
�����/(=	�����E�-�	��	����
��,�C��%�#���$3�����
�	
�
�1�Q����0/�	��������	�/=	�L�/����/��R�	�/����
�
��/�3.10���4�

�A����
�-(#	�#	��S 
 

� ���������������������� /��q��/$�U��/�=�F��9�/#����/$���
�/C��m�	�/��L�	�/���'/��%	��(�O�/��U��/�=��%�/#����$3�F��9�#� �����9��
��������������������������������
���$�&�_����	�!��%	��(B�����������	�!�� �����9��Pr.10-08�$��������
�	�/���%�/#���$3

��Z����8�67�QPr.10-09�S������$���	�C�F�8=����������/�
�� W-/,���;/8�AnLErr�������������/��
�?�'/��0/�	���
	
��/�	�C�?�'/��	��
��#	����
�B����$3�U���=�?
����8�67���Z� ���#	�0�	� 

�$�Y�W@���8�67���Z�F��9�#� ��3�%	��8������HC�L�|�>AnLErr�$���	�C�^�>�U������	�:��,� �����
��
��
10-09 ��(=��;,	�9�#���	
��HC�U���=���2������ ��C����&�_����"00 

������:���_����������00�:��
��� �	
	�����HC	����
������������������������01�����HC	��RAMP�c���������
�����������������������02 �����HC	�COAST�c���������

��
� ��//�	�
��;//,	�//21��
��//��������//�3���2���9�//#��//�_��U��//�=���2���9�//#�PG�� //�� //�����//9�������9�//#���2�//��>


�����	�C����������A����8�67���Z�:��,�� 
��

10-10 �T��>���(�BPG� � ��C����&�_�����"600 
���:���_��������������1����40000�Q�max = 20000�������+H��
��	���S��

��
�������U���	���&�_����m�	���2���	����6H��d20000��$����������
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